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Vh = π(α)uh(xh(α)) + π(β)uh(xh(β)),

positive marginal utility, u′h > 0,
declining marginal utility, u′′h < 0,

so uh is strictly increasing and strictly concave
h is risk-averse.

Assume that xh(α) 6= xh(β). To show that h prefers consumption smoothing. In particular,
she prefers x̄h = π(α)xh(α) + π(β)xh(β) in each state to (xh(α), xh(β)).

Vh(x̄h, x̄h) = π(α)uh(x̄h) + π(β)uh(x̄h)

= uh(x̄h) because π(α) + π(β) = 1

= uh(π(α)xh(α) + π(β)xh(β))

> π(α)uh(xh(α)) + π(β)uh(xh(β))

because the concave function uh is above its chords.

Remark:

∑
h

x̄h =
∑
h

x̄h(s) for s = α, β.
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